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QUESTION 1

A customer has a Window PC connected to an SMB share for a newly created volume on ONTAP storage. The share
properties indicate that it has 475 GB free. However, the volume is configured as a 500 GB volume.

Which technology is responsible for this situation?
A. deswizzling

B. deduplication

C. Snapshot reserve

D. compression

Correct Answer: D

QUESTION 2

An administrator added a spare disk to the data aggregate in an ONTAP system. The administrator immediately noticed
messages about the disk being partitioned.

Why did this event occur?

A. Disks on the same disk shelf were shared by both nodes.

B. The RAID group to which the disk was added contained root partitions.

C. The RAID was full and another RAID group was needed.

D. The disk was larger than the other disks in the aggregate and needed to be right-sized.

Correct Answer: A

QUESTION 3

A customer has an SVM with an SSD aggregate that is reaching capacity. They want to move the data to another SVM
with attached SATA drives.

Which two ONTAP features will accomplish this task? (Choose two.)
A. volume copy

B. volume move

C. volume rehost

D. volume relocate

Correct Answer: BC
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Reference: https://whyistheinternetbroken.wordpress.com/2016/06/08/volume-rehosting-ontap9/

QUESTION 4

Users are unable to access data stored on an ONTAP cluster. The storage aggregate show command reports that the
aggregates are offline and wafl_inconsistent.

Which action would you perform to recover the aggregate?

A. Perform an aggregate copy and delete the source aggregate.

B. Execute the storage aggregate online command from the cluster shell.
C. Use file system recovery tools to recover the aggregate.

D. Execute the aggr online command from maintenance mode.

Correct Answer: C

QUESTION 5

A customer recently experienced a panic on one node of an ONTAP cluster. Prior to performing the giveback, they want
to k_now what caused the panic. You request data from the customer to assist Support in determining the cause of the
panic.

What information should be requested in this situation? (Choose three.)

A. panic string

B. Perfstat

C. core dump

D. message logs

E. packet trace

Correct Answer: ACD
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